

ON THE APPROXIMATION OF CERTAIN INFINITE PRODUCTS

K. VÄÄNÄNEN

1. Introduction.

We shall consider the infinite product

$$(1) \quad f(z) = \prod_{n=1}^{\infty} \left(1 + \frac{z}{q^n} \right)$$

with certain algebraic q such that $|q| > 1$. The q -exponential function f is an entire function

$$(2) \quad f(z) = 1 + \sum_{n=1}^{\infty} \left(z^n / \prod_{k=1}^n (q^k - 1) \right)$$

satisfying the functional equation

$$(3) \quad f(qz) = (1 + z)f(z).$$

Already Lototsky [8] proved the irrationality of $f(\alpha)$, if $q \geq 2$ is a positive integer and $\alpha \neq 0$, $-q^n$, $n = 1, 2, \dots$, is an element of an imaginary quadratic field. Since then there are many works considering the irrationality and irrationality measures of the values $f(\alpha)$, where q and α are certain elements of an imaginary quadratic field, see e.g. the papers [2], [3], [4], [5], [9], [11], [12], [13], [14], and [15]. The works [2], [9], and [10] consider also non-archimedean case. The most general qualitative results are those of Bézivin giving linear independence of the values of f and its derivatives at different points. In [6] linear independence questions of f and its derivatives at $z = \alpha$ with certain algebraic q and α are considered.

Our aim in the present work is to generalize the recent results of Popov [12], [13] and also to give non-archimedean analogues of these results. We shall use the Newton interpolation technique applied already in many of the above mentioned works. In particular, the Schnirelman integral is used in the non-archimedean case to replace the complex integral.

2. Notations and results.

Let K be an algebraic number field of degree d over \mathbf{Q} . For every place v of K we denote $d_v = [K_v: \mathbf{Q}_v]$. Let $P = \{\text{primes } p\} \cup \{\infty\}$. If the finite place v of K lies over the prime p , we write $v|p$, for infinite place v of K we write $v|\infty$. We normalize the absolute value $|\cdot|_v$ of K so that

- (i) if $v|p$, then $|p|_v = p^{-1}$,
- (ii) if $v|\infty$, then $|x|_v = |x|$,

where $|\cdot|$ denotes the ordinary absolute value in \mathbf{R} or in \mathbf{C} . Clearly we then have the product formula

$$\prod_v |\alpha|_v^{d_v} = 1$$

for all non-zero $\alpha \in K$. Further, for any vector $\underline{\alpha} = (\alpha_1, \dots, \alpha_k)$, $\alpha_i \in K$, we define $|\underline{\alpha}|_v = \max(|\alpha_1|_v, \dots, |\alpha_k|_v)$.

The absolute height $h(\alpha)$ of $\alpha \in K$ is defined by the formula

$$h(\alpha) = \prod_v \max(1, |\alpha|_v^{d_v/d}),$$

and the absolute height $h(\underline{\alpha})$ of the vector $\underline{\alpha}$ by

$$h(\underline{\alpha}) = \prod_v \max(1, |\underline{\alpha}|_v^{d_v/d}).$$

If v is a place of K and q is a non-zero element of K , we shall use the notation $\lambda = \lambda(v, q)$ to denote

$$(4) \quad \lambda = (d \log h(q)) / (d_v \log |q|_v).$$

In particular we note that $\lambda = 1$ if $|q|_w \leq 1$ for all $w \neq v$. If $|q|_v > 1$, then the values of f at non-zero points $\alpha \in K$, $\alpha \neq -q^n$, $n = 1, 2, \dots$, are non-zero elements of K_v . Our first results consider the approximation of these numbers by the elements of K .

THEOREM 1. *Let $|\cdot|_v$ be any valuation of K , and suppose that $|q|_v > 1$ and $\lambda < 7/4$. Further, let $\alpha \neq -q^n$, $n = 1, 2, \dots$, be a non-zero element of K . Then $f(\alpha) \notin K$, and there exist effectively computable positive constants $\gamma_1 = \gamma_1(q, \alpha, v)$ and $h_1 = h_1(q, \alpha, v)$ such that for any $\theta \in K$*

$$|f(\alpha) - \theta| > H^{-\frac{7d}{(7-4\lambda)d_v} - \gamma_1(\log H)^{-1/2}},$$

where $H = \max(h(\theta), h_1)$.

We note that in the archimedean case Theorem 1 is analogous to the result of [13]. The following theorem considers simultaneous approximation of two values of f and generalizes [12].

THEOREM 2. Let $| \cdot |_v$ be any valuation of K , and suppose that $|q|_v > 1$ and $\lambda < 13/7$. Suppose that α_1 and α_2 are non-zero elements of K satisfying

$$(5) \quad \alpha_i \neq -q^n, \alpha_2 \neq \alpha_1 q^m, i = 1, 2; n = 1, 2, \dots; m \in \mathbb{Z}.$$

Then there exist effectively computable positive constants $\gamma_2 = \gamma_2(q, \alpha_i, v)$ and $h_2 = h_2(q, \alpha_i, v)$ such that for any $\underline{\theta} = (\theta_1, \theta_2) \in K^2$

$$\max_i |f(\alpha_i) - \theta_i|_v > H^{-\frac{13d}{(13-7\lambda)d_v} - \gamma_2(\log H)^{-1/2}},$$

where $H = \max(h(\underline{\theta}), h_2)$.

Next we generalize the result given in the archimedean case in the field $K = \mathbb{Q}$ as Theorem 1 of [12]. We shall prove the following

THEOREM 3. Let $| \cdot |_v$ be any valuation of K , and suppose that $|q|_v > 1$ and $\lambda < 6/5$. Suppose that α_1 and α_2 are non-zero elements of K satisfying (5). Then there exist effectively computable positive constants $\gamma_3 = \gamma_3(q, \alpha_i, v)$ and $h_3 = h_3(q, \alpha_i, v)$ such that for any $\theta \in K$

$$\left| \frac{f(\alpha_2)}{f(\alpha_1)} - \theta \right|_v > H^{-\frac{6d}{(6-5\lambda)d_v} - \gamma_3(\log H)^{-1/2}},$$

where $H = \max(h(\theta), h_3)$.

In the following result we consider the approximation of $f^{(i)}(\alpha)/f(\alpha)$, $i = 1, 2, \dots, k-1$, where $k \geq 2$ is a natural number. To formulate our result we define A and B by the formulae

$$A = k + 3(k-1)/\pi^2, \quad B = (k-1)(k/2 - 3/\pi^2).$$

THEOREM 4. Let $| \cdot |_v$ be any valuation of K , and suppose that $|q|_v > 1$ and $|q|_w \neq 1$ for all $w | \infty$. Let also $A + B - \lambda A > 0$. If α satisfies the conditions of Theorem 1, then there exist effectively computable positive constants $\gamma_4 = \gamma_4(q, \alpha, v, k)$ and $h_4 = h_4(q, \alpha, v, k)$ such that for any $\underline{\theta} = (\theta_1, \dots, \theta_{k-1}) \in K^{k-1}$

$$\max_i \left| \frac{f^{(i)}(\alpha)}{f(\alpha)} - \theta_i \right|_v > H^{-\frac{(A+B)d}{(A+B-\lambda A)d_v} - \gamma_4 \frac{\log \log H}{(\log H)^{1/2}}},$$

where $H = \max(h(\underline{\theta}), h_4)$.

REMARK. If $\alpha = -1$, then we can replace A and B above by

$$A = (k+1)/2 + 3(k-1)/\pi^2, \quad B = (k-1)((k+1)/2 - 3/\pi^2).$$

In the case $k=2$ Theorem 4 is essentially Theorem 2 of [6]. Since $f'(z)/f(z) = \sum_{n=1}^{\infty} (q^n + z)^{-1}$, this case has some interesting corollaries on the

approximation of certain numbers, e.g. the numbers $\sum_{n=1}^{\infty} (q^n - 1)^{-1}$, $q = 2, 3, \dots$, have an irrationality measure $\leq (1/2 - 1/\pi^2)^{-1} \approx 2, 51$, and the number $\sum_{n=1}^{\infty} F_n^{-1}$, where F_n denotes the n th Fibonacci number, has $6/(1 - 3/\pi^2) \approx 8, 62$ as a measure of approximation by the elements of $\mathbb{Q}(\sqrt{5})$, see [6].

3. The asymptotic estimate for the remainder term.

Let $| \cdot |_v$ be a valuation of K . If $v|P$ we shall consider all the elements of K as elements of \mathbb{C}_p ($\mathbb{C}_{\infty} = \mathbb{C}$) given by a corresponding embedding of K in \mathbb{C}_p . For $|q|_v > 1$ the function $f(z)$ is then an entire function in \mathbb{C}_p .

All our results will be corollaries of one general result. To prove this we suppose in the following that for some $k \in \mathbb{N}$ $\alpha_1, \dots, \alpha_k$ are non-zero elements of K satisfying

$$(6) \quad \alpha_i \neq -q^n, \alpha_j \neq \alpha_i q^m, n = 1, 2, \dots; m \in \mathbb{Z}; \\ i, j = 1, 2, \dots, k; i \neq j.$$

If $v|\infty$, we define the complex integral

$$I_v(k, n) = \frac{1}{2\pi i} \int_{|z|=R} \frac{f(z) dz}{z^{\delta(n+1)} \prod_{v=0}^n (z + q^{v+1}) \prod_{i=1}^k \prod_{v=0}^n (z - \alpha_i q^v)},$$

where $\delta = 0$ or 1 , and $R = |q|_v^{(k+1+\delta)n+1}$. We assume that $k \geq 2$ if $\delta = 0$. For finite v we use the Schnirelman integral

$$I_v(k, n) = \int_{0, R} \frac{f(z)z dz}{z^{\delta(n+1)} \prod_{v=0}^n (z + q^{v+1}) \prod_{i=1}^k \prod_{v=0}^n (z - \alpha_i q^v)}.$$

For the basic properties of this integral we refer to [1].

In the following we shall need an asymptotic estimate for these integrals. We note that c_1, c_2, \dots denote effectively computable positive constants independent of n . Also the constants in $O(n \rightarrow \infty)$ are effectively computable.

LEMMA 1. *If $|q|_v > 1$, then*

$$|I_v(k, n)|_v = |q|_v^{-(k+1+\delta)^2 n^2 / 2 + O(n)}.$$

PROOF. If $v|\infty$, then Lemma 1 follows from Lemma 2 of [12].

If $v|p$, then

$$\prod_{v=0}^n (z + q^{v+1}) \prod_{i=1}^k \prod_{v=0}^n (z - \alpha_i q^v) =$$

$$z^{(k+1)(n+1)} \prod_{v=0}^n (1 + q^{v+1}/z) \prod_{i=1}^k \prod_{v=0}^n (1 - \alpha_i q^v/z) =$$

$$z^{(k+1)(n+1)}(1 + w_n(z)),$$

where $|w_n(z)|_v \leq |q|_v^{-(k+\delta-1)n}$ for all $|z|_v = R$ and $n \geq c_1$. By using this notation we now have

$$I_v(k, n) = \int_{0, R} \frac{f(z)z dz}{z^{(k+1+\delta)(n+1)}} - \int_{0, R} \frac{f(z)w_n(z)z dz}{z^{(k+1+\delta)(n+1)}(1 + w_n(z))} = I(1) + I(2), \text{ say.}$$

The results of [1] imply with (2) the formula

$$I(1) = \text{Res}_{z=0} f(z)z^{-(k+1+\delta)(n+1)} = \prod_{v=1}^{(k+1+\delta)(n+1)-1} (q^v - 1)^{-1}.$$

Thus

$$(7) \quad |I(1)|_v = |q|_v^{-(k+1+\delta)(n+1)((k+1+\delta)(n+1)-1)/2}.$$

On the other hand, since by (3)

$$f(z/q^{(k+1+\delta)n}) = f(z)q^{(k+1+\delta)n((k+1+\delta)n+1)/2} \times \prod_{v=1}^{(k+1+\delta)n} (z + q^v)^{-1},$$

it follows from (7) that

$$\sup_{|z|_v=R} \left| \frac{f(z)w_n(z)z}{z^{(k+1+\delta)(n+1)}(1 + w_n(z))} \right|_v \leq |I(1)|_v |q|_v^{-n/2} \sup_{|z|_v=|q|_v} |f(z)|_v$$

for all $n \geq c_2$. We thus have, for all $n \geq c_3$,

$$|I_v(k, n)|_v = |I(1)|_v = |q|_v^{-(k+1+\delta)^2 n^2 / 2 + O(n)}.$$

This proves Lemma 1.

4. Approximation forms.

We first define for each $n \in N$ the polynomials $B_n^v(q)$ needed in the following consideration. Let

$$B_n^v(q) = \prod_{\mu=n-v+1}^n (q^\mu - 1) \Big/ \prod_{\mu=1}^v (q^\mu - 1), \quad v = 1, 2, \dots, n,$$

$$B_n^0(q) = 1.$$

In [7], p. 157, Gelfond proves that $B_n^v(q) \in Z[q]$. Further, we have an upper bound 2^n for the lengths of B_n^v , see [13].

LEMMA 2. *There exists a denominator*

$$\Omega(k, n) = q^{(k+1+2\delta)n^2/2 + O(n)} \left(\prod_{\mu=1}^n (q^\mu - 1) \right) \prod_{i=1}^k \left\{ \alpha_i^{2n+1} \times \right. \\ \left. \left(\prod_{\substack{j=1 \\ j \neq i}}^k (\alpha_i - \alpha_j) \right) \left(\prod_{\mu=0}^n (\alpha_i + q^{\mu+1}) \right) \left(\prod_{j=1}^{i-1} \prod_{\mu=1}^n (\alpha_i q^\mu - \alpha_j)(\alpha_i - \alpha_j q^\mu) \right) \right\}$$

such that for $|q|_v > 1$ we have

$$\Omega(k, n) I_v(k, n) = \delta P_0 + \sum_{i=1}^k P_i f(\alpha_i),$$

where $\delta P_0, P_i \in Z[q, \alpha_1, \dots, \alpha_k]$ are polynomials satisfying

$$\deg_q \{ \delta P_0, P_i \} \leq (k^2 + 1 + 2\delta)n^2/2 + O(n),$$

$$\deg_q \{ \delta P_0, P_i \} \leq O(n).$$

PROOF. At first we use (3) to replace $f(z)$ in $I_v(k, n)$ by

$$f(z) = q^{-(n+1)(n+2)/2} f(zq^{-n-1}) \prod_{v=0}^n (z + q^{v+1}).$$

The application of residue theorem or its analogue in \mathbb{C}_p , see Adams [1], then implies

$$\begin{aligned} q^{(n+1)(n+2)/2} I_v(k, n) &= \delta \operatorname{Res}_{z=0} f(zq^{-n-1}) z^{-\delta(n+1)} \prod_{i=1}^k \prod_{v=0}^n (z - \alpha_i q^v)^{-1} + \\ &\sum_{i=1}^k \sum_{v=0}^n \operatorname{Res}_{z=\alpha_i q^v} f(zq^{-n-1}) z^{-\delta(n+1)} \prod_{j=1}^k \prod_{\mu=0}^n (z - \alpha_j q^\mu)^{-1} = \\ &\delta \sum_{\sigma+\sigma=n} q^{-\sigma(n+1)} \left(\prod_{v=1}^{\sigma} (q^v - 1)^{-1} \right) \prod_{i=1}^k \prod_{v=0}^n -(\alpha_i q^v)^{-\sigma_{i,v}-1} + \\ &\sum_{i=1}^k \sum_{v=0}^n f(\alpha_i q^{v-n-1}) (\alpha_i q^v)^{-\delta(n+1)} \prod_{\substack{j=1 \\ (j,\mu) \neq (i,v)}}^k \prod_{\mu=0}^n (\alpha_i q^v - \alpha_j q^\mu)^{-1} = \\ &\delta \sum_{\sigma+\sigma=n} (-1)^{k(n+1)} q^{\omega_1(n,v,\sigma)} \left(\prod_{v=1}^{\sigma} (q^v - 1)^{-1} \right) \prod_{i=1}^k \prod_{v=0}^n \alpha_i^{-\sigma_{i,v}-1} + \\ &\sum_{i=1}^k f(\alpha_i) \alpha_i^{-\delta(n+1)-n} \sum_{v=0}^n (-1)^{n-v} q^{\omega_2(n,v)} B_n^v(q) \times \end{aligned}$$

$$\left(\prod_{\mu=1}^n (q^\mu - 1)^{-1}\right) \left(\prod_{\mu=0}^{n-v} (\alpha_i + q^{\mu+1})^{-1}\right) \prod_{\substack{j=1 \\ j \neq i}}^k (\alpha_i - \alpha_j)^{-1} \times \\ \left\{ \prod_{\mu=1}^v (\alpha_i q^\mu - \alpha_j) \prod_{\mu=1}^{n-v} (\alpha_i - \alpha_j q^\mu) \right\}^{-1},$$

where

$$\omega_1(n, v, \sigma) = -\sigma(n + 1) - kn(n + 1)/2 - \sum_{i,v} \sigma_{i,v},$$

$$\omega_2(n, v) = n^2/2 - (k + 1 + \delta)nv + (k + 1)v^2/2 + 3n/2 - (k + 1 + 2\delta)v/2 + 1.$$

Here $\omega_1(n, v, \sigma) - (n + 1)(n + 2)/2 \geq -(k + 3)n^2/2 + O(n)$, and $\omega_2(n, v) - (n + 1)(n + 2)/2 \geq -(k + 1 + 2\delta)n^2/2 + O(n)$. Therefore it is clear that

$$\Omega(k, n)I_v(k, n) = \delta P_0 + \sum_{i=1}^k P_i f(\alpha_i),$$

where $P_i \in Z[q, \alpha_1, \dots, \alpha_k]$, $i = 0, 1, \dots, k$.

The estimate for \deg_q is obvious. All we need to do is to estimate \deg_q . The degree of $\Omega(k, n)$ in q satisfies

$$(8) \quad \deg_q \Omega(k, n) = (k^2 + k + 2 + 2\delta)n^2/2 + O(n).$$

Since $I_v(k, n)$ is a sum of rational expressions, where q appears only in the denominator polynomials having \deg_q at least $(k + 1)n^2/2 + O(n)$, it follows that the degrees of δP_0 and P_i , $i = 1, \dots, k$, satisfy the required bound. Thus our Lemma 2 is true.

Let us denote

$$R(k, n) = \Omega(k, n)I_v(k, n) = \delta P_0 + \sum_{i=1}^k P_i f(\alpha_i).$$

The above lemmas imply now the following result.

LEMMA 3. *If $|q|_v > 1$, then*

$$|R(k, n)|_v = |q|_v^{-bn^2 + O(n)},$$

where $b = ((1 + 2\delta)k + \delta - 1)/2$. Further, for any place w of K , we have

$$\max(|\delta P_0|_w, |P_i|_w) \leq c_4^{\delta(w)n} \max(1, |q|_w)^{an^2 + O(n)} \max(1, |\alpha_i|_w)^{O(n)},$$

where $a = (k^2 + 1 + 2\delta)/2$, and $\delta(w) = 1$ for $w|\infty$, $\delta(w) = 0$ for $w|p$.

Next, to prove our Theorem 4, we give a result obtained by Bundschuh and Väänänen [6]. There we have an approximation form

$$R_1(k, n) = \sum_{i=0}^{k-1} P_i f^{(i)}(\alpha), \quad P_i \in Z[q, \alpha],$$

with the properties given in

LEMMA 4. *If $|q|_v > 1$ and $|q|_w \neq 1$ for all $w | \infty$, then*

$$|R_1(k, n)|_v = |q|_v^{-b_1 n^2 + O(n \log n)},$$

where $b_1 = (k - 1)(k/2 - 3\pi^{-2})$. Further, for any place w of K , we have

$$\max |P_i|_w \leq c_5^{\delta(w)n \log n} \max(1, |q|_w)^{a_1 n^2 + O(n \log n)} \max(1, |\alpha|_w)^{O(n)},$$

where $a_1 = k + 3(k - 1)\pi^{-2}$.

We note that the proof of this result uses considerations like above applied to the integral

$$\frac{1}{2\pi i} \int_{|z|=R} \frac{f(z) dz}{\prod_{v=0}^n ((z - \alpha q^v)^k (z + q^{v+1}))}$$

or its p -adic analogue.

5. Proof of the theorems.

We shall obtain all our results from a general theorem, Theorem A below, for which we make the following

Assumption A. v is a place of K , $q \in K$ satisfies $|q|_v > 1$, and $\underline{\alpha} = (\alpha_1, \dots, \alpha_s)$ is an element of K^s . Further, for some $k \in N$, f_1, \dots, f_k are elements of K_v having the following properties: For each $n \geq c_6$ there exists a linear form

$$r(n) = p_0 + \sum_{i=1}^k p_i f_i, \quad p_i \in Z[q, \underline{\alpha}],$$

such that

$$(9) \quad |q|_v^{-(Bn^2 + c_7 n)} \leq |r(n)|_v \leq |q|_v^{-(Bn^2 - c_8 n)}$$

with some constant $B > 0$. For any place w of K the coefficients p_i , $i = 0, 1, \dots, k$, satisfy the inequalities

$$(10) \quad \max |p_i|_w \leq c_9^{\delta(w)n} \max(1, |q|_w)^{An^2 + c_{10} n} \max(1, |\underline{\alpha}|_w)^{c_{11} n},$$

where a constant $A > 0$.

THEOREM A. *Let the conditions of Assumption A be valid. Suppose that*

$A + B - \lambda A > 0$. Then there exist positive constants $\Gamma_1 = \Gamma_1(q, \underline{g}, k, v)$ and $H_1 = H_1(q, \underline{g}, k, v)$ such that for any $\underline{\theta} = (\theta_1, \dots, \theta_k) \in K^k$

$$\max_i |f_i - \theta_i|_v > H^{-\frac{(A+B)d}{(A+B-\lambda A)d_v} - \Gamma_1 (\log H)^{-1/2}},$$

where $H = \max(h(\underline{\theta}), H_1)$.

PROOF. By denoting $\Delta = p_0 + \sum_{i=1}^k p_i \theta_i$, $f_i = \theta_i + \varepsilon_i$, $i = 1, \dots, k$, we obtain

$$\Delta = r(n) - \sum_{i=1}^k p_i \varepsilon_i.$$

We now assume that

$$(11) \quad \max |f_i - \theta_i|_v = \max |\varepsilon_i|_v < |q|_v^{-(A+B)n^2 - \tau n}$$

with some $\tau \in N$, $n \geq c_6$, which we specify later. By (9) and (10) we then have

$$\left| \sum_{i=1}^k p_i \varepsilon_i \right|_v \leq c_{12}^n |q|_v^{-Bn^2 + c_{10}n - \tau n} < |r(n)|_v.$$

for any $\tau \geq c_{13}$. Therefore, by (9),

$$(12) \quad 0 < |\Delta|_v \leq 2^{\delta(v)} |r(n)|_v \leq 2^{\delta(v)} |q|_v^{-Bn^2 + c_8 n}.$$

Since $0 \neq \Delta \in K$, we have

$$\prod_w |\Delta|_w^{d_w/d} = 1$$

by the product formula. This together with (10) and (12) imply (for any $x \geq 0$ we denote $\log_+ x = \log \max(1, x)$)

$$\begin{aligned} \frac{d_v}{d} \left((-Bn^2 + c_8 n) \log |q|_v + \delta(v) \log 2 \right) &\geq \frac{d_v}{d} \log |\Delta|_v = \\ - \sum_{w \neq v} \frac{d_w}{d} \log |\Delta|_w &\geq - \sum_{w \neq v} \frac{d_w}{d} (\delta(w) n c_{14} + (An^2 + c_{10}n) \log_+ |q|_w + \\ c_{11} n \log_+ |\underline{\alpha}|_w + \log_+ |\underline{\theta}|_w) &\geq - \log h(\underline{\theta}) - An^2 \log h(q) + \\ \frac{d_v}{d} An^2 \log |q|_v - c_{15} n. \end{aligned}$$

This leads to an inequality

$$-n^2 \left(\frac{d_v}{d} (A + B) \log |q|_v - A \log h(q) \right) \geq -\log h(\underline{\theta}) - c_{16} n$$

or

$$(13) \quad -n^2(A + B - \lambda A) \frac{d_v}{d} \log |q|_v \geq -\log h(\underline{\theta}) - c_{16}n.$$

We now assume that $\tau \geq c_{13}$ fulfils the condition

$$\tau(A + B - \lambda A) \frac{d_v}{d} \log |q|_v > c_{16}.$$

Then we fix our parameter n in such a way that n is the smallest integer ($> \tau$) satisfying

$$(14) \quad \log H \leq (n^2 - \tau n)(A + B - \lambda A) \frac{d_v}{d} \log |q|_v,$$

where $H = \max(h(\underline{\theta}), H_1)$ is large enough to make n satisfy $n \geq c_6$ and $n > 2\tau$. By these choices we have a contradiction in (13). Therefore our assumption (11) is not valid and thus

$$\max |f_i - \theta_i|_v \geq |q|_v^{-(A+B)n^2 - \tau n} \geq |q|_v^{-(A+B)((n-1)^2 - \tau(n-1)) - c_{17}n}.$$

From our choice of n (see (14)) it now follows that

$$\begin{aligned} & -(A + B)((n - 1)^2 - \tau(n - 1)) \log |q|_v - c_{17}n \log |q|_v > \\ & - \frac{(A + B)d \log H}{(A + B - \lambda A)d_v} - c_{18}(\log H)^{1/2}. \end{aligned}$$

This estimate implies the truth of Theorem A.

If $\alpha_1, \dots, \alpha_k$ are elements of K satisfying (6), then Lemma 3 implies Assumption A for the numbers $f_i = f(\alpha_i)$, $i = 1, \dots, k$, where

$$A = (k^2 + 3)/2, B = 3k/2, \underline{\alpha} = (\alpha_1, \dots, \alpha_k)$$

(we use Lemma 3 with $\delta = 1$). Suppose that $A + B - \lambda A > 0$. Then Theorem A gives

$$\max_i |f(\alpha_i) - \theta_i|_v > H^{-\frac{(k^2 + 3k + 3)d}{(k^2 + 3k + 3 - (k^2 + 3)\lambda)d_v} - \Gamma_1} (\log H)^{-1/2}.$$

If we choose here $k = 1$ and $k = 2$, we have our Theorem 1 and 2, respectively.

REMARK. Of course one would expect that the exponent of H above becomes better with greater k . Unfortunately it is not so and therefore we give our results only in the cases $k = 1$ and $k = 2$. The reason for this situation is perhaps too strong growth of our denominator $\Omega(k, n)$.

To prove Theorem 3 we apply Lemma 3 with $\delta = 0$. This implies Assumption A for the numbers $f_i = f(\alpha_{i+1})/f(\alpha_1)$, $i = 1, \dots, k - 1$, where

$$A = (k^2 + 1)/2, B = (k - 1)/2, \underline{\alpha} = (\alpha_1, \dots, \alpha_k).$$

We choose here $k = 2$ and apply Theorem A. This gives immediately Theorem 3.

Lemma 4 gives us Assumption A for the numbers $f_i = f^{(i)}(\alpha)/f(\alpha)$, $i = 1, \dots, k - 1$, where

$$A = k + 3(k - 1)/\pi^2, B = (k - 1)(k/2 - 3/\pi^2), \underline{\alpha} = \alpha,$$

and where $c_i n$ are replaced by $c_i n \log n$. If $A + B - \lambda A > 0$, then Theorem A can be used to produce the estimate

$$\max_i \left| \frac{f^{(i)}(\alpha)}{f(\alpha)} - \theta_i \right|_v > H^{-\frac{k(k+1)d}{(k(k+1) - \lambda(2k + 6(k-1)/\pi^2))d_v}} - \Gamma_4 \frac{\log \log H}{(\log H)^{1/2}},$$

where $H = \max(h(\underline{\theta}), H_4)$, and Γ_4 and H_4 are positive constants independent of $\underline{\theta}$. We have to change only slightly the proof of Theorem A, since $c_i n$ are replaced by $c_i n \log n$. Thus Theorem 4 is true.

If $\alpha = -1$, then this consideration can be improved to give our Remark after Theorem 4. We need only to use the better values

$$A = (k + 1)/2 + 3(k - 1)/\pi^2, B = (k - 1)((k + 1)/2 - 3/\pi^2)$$

of the constants A and B , see [6].

REMARK. We note that in the case $\lambda = 1$ the main part of the power of H in these bounds is $-1 - t(k)/(k - 1)$, where $t(k)$ goes to $2 + 6/\pi^2$ in the general case, and to $1 + 6/\pi^2$ in the case $\alpha = -1$, when k grows.

REFERENCES

1. W. Adams, *Transcendental numbers in the p-adic domain*, Amer. J. Math. 88 (1966), 279–307.
2. J.-P. Bézivin, *Indépendance linéaire des valeurs des solutions transcendentes de certaines équations fonctionnelles*, Manuscripta Math. 61 (1988), 103–129.
3. Peter B. Borwein, *On the irrationality of $\Sigma(1/(q^n + r))$* , J. Number Theory 37 (1991), 253–259.
4. P. Bundschuh, *Arithmetische Untersuchungen unendlicher Produkte*, Invent. Math. 6 (1969), 275–295.
5. P. Bundschuh, *Ein Satz über ganze Funktionen und Irrationalitätsaussagen*, Invent. Math. 9 (1970), 175–184.
6. P. Bundschuh and K. Väänänen, *Arithmetical investigations of a certain infinite product*, to appear in *Compositio Math.*
7. A. O. Gelfond, *Differenzenrechnung*, VEB, Berlin, 1958.
8. A. V. Lototsky, *Sur l'irrationalité d'un produit infini*, Mat. Sb. 12 (54) (1943), 262–272.
9. Tapani Matala-aho, *Remarks on the arithmetic properties of certain hypergeometric series of Gauss and Heine*, Acta Univ. Oulu. Ser. A Sci. Rerum Natur. 219 (1991).
10. Reinhard Näther, *Über die arithmetische Natur der Werte der Lösungen einer Funktionalgleichung von H. Poincaré im Körper der p-adischen Zahlen*, Diplomarbeit, Freiburg i. Br., 1976.

11. C. F. Osgood, *On the diophantine approximation of values of functions satisfying certain linear q -difference-equations*, J. Number Theory 2 (1971), 159–177.
12. A. Yu. Popov, *Arithmetical properties of the values of some infinite products*, Diophantine Approximation Vol. 2, M. (1986), 63–78 (Russian).
13. A. Yu. Popov, *Approximation of values of some infinite products*, Vestnik Moscov. Univ. Ser. I, Mat. Mekh. 6 (1990), 3–6.
14. Th. Stihl, *Irrationalitätsmaße für Werte der Lösungen einer Funktionalgleichung von Poincaré*, Arch. Math. 41 (1983), 531–537.
15. R. Wallisser, *Rationale Approximation des q -Analogons der Exponentialfunktion und Irrationalitätsaussagen für diese Funktion*, Arch. Math. 44 (1985), 59–64.

DEPARTMENT OF MATHEMATICS
UNIVERSITY OF OULU
90570 OULU 57
FINLAND
